
unit alg Cà �
N
CÜ 2

:C2 = C
E+ = E:E− = F :qh

EF − FE = E+ ; E− =
qh− q−h

q − q−1
: qhEq−h = q2E: qhFq−h = q−2F

relations

qh =
q 0
0 q−1

EF − FE = E+ ; E− =
qh− q−h

q − q−1
qhEq−h = q2E

qhFq−h = q−2F

qhE±q
−h = q±2E±

N
CÜ 2

:C2= N
CÜ 2

:C2

∆←−
N
CÜ 2

:C2

K = qh/2

∆E
±

= E±=qh/2 + q−h/2=E±

∆qh = qh=qh

∆E = E=K + K
−1=E

∆F = F=K + K
−1=F

∆K = K=K

N
CÜ 2

:C2

S−−−−−−−−→
antipode N

CÜ 2

:C2
SE = −qE

SF = −q−1F

SK = K
−1

{
SE± = −q±E±

Sqh = q−h
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

KE = qEK KF = q−1FK

E ; F =
K

2−K
−2

q − q−1

∆E = E=K + K
−1=E ∆F = F=K + K

−1=F

SE = −qE SF = −q−1F
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

KE = q2EK KF = q−2FK

E ; F =
K−K−1

q − q−1

∆E = E=K + I=E ∆F = F=I + K−1=F
SE = −EK−1

SF = −KF

Zhang



KE = q2EK KF = q−2FK

E ; F =
K −K−1

q − q−1

∆E = E=I +K=E ∆F = F=K−1
+ I=F

SE = −K−1E SF = −FK
E = EK = F
F = K

−1
F = E

K = K
2
= K−1


